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JEL: M100L220.  
Abstract:  

Strategic alliances are of great importance, especially in the environment which characterized 
by dynamics competition, this is due to the benefits it provides to both allied parties.  

The purpose of this study is to identify the role thase strategic alliances play in supporting 
competitive advantage. 

A questionnaire form was used to collect data and it was distributed to a sample of 60 
individuals, where the study concluded that there is a statistically significant effect of strategic 
alliances on the competitive advantage of Algeria Telecom and Algeria Post, and that the study’s 
independent variable of strategic alliances has a positive impact on the dependent variable, 
competitive advantage. 
Keywords: Strategic alliances, Competitive advantage, Algeria Telecom, Algeria Post. 
JEL Classification: M100 L220 
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spss  

60   

1 . :  
  :

20 
 :

  . 
  :

(spearman) 0,05%.  
o "   

) 01 :("  
  Spearman  sig 

01  0.640** 0.000  
02  **0.616  0.000  
03  **.7670 0.000  
04  **190.7  0.000  
05  **.5950  0.000  
06 0.585** 0.134  
07 **697.0 0.000  
08 0.437** .0050  
09 0.563** 0.000  
10 0.632** 0.000  

 spss     ** : 0,01  

 "   "
0,01 0,05

  
o "   

) 02 :("  
  Spearman  sig 

11  0.233 0.153  
12  **0.715  0.000  
13  **0.791 0.000  
14  **0.713  0.000  
15  **0.743  0.000  
16 **0.668 0.000  
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17 **0.679 0.000  
18 **0.749 .0050  
19 **0.747 0.000  
20 **0.768 0.000  

 spss     ** : 0,01  

 " " 
0,01 0,05 11 

  
  :spss  

 
) 03 :( 

   alpha crombach 

  20 91,60% 

                                  spss       
  :

 
(Y) = f(X) 

 (Y)     /     :(X) :  
2.: 

 spss 
  

  
o  : 
 :  

  

 ) 02 :(  

  

030%

070%

 

 



 :652 - 665  :13 –  :01 )2022 (    

 

- 660 - 
 

:  spss  
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 ) 03 :(  

  
: spss  

31-40 36,7% 
50 23,3% 20%

31-40   
 :  :  

 ) 04 :(  

  
: spss  

15 35,9% 
05 10 30,8% 05 

20,5% 11 15   12,8%.  
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o  

1-5 ) 5-1=4 (
   )4/5=0.8(

) 1-1.80)  (1.80-
2.60 ()2.60-3.40)  (3.40-
4.20)  (4.20-5 (

) 3.(  
  

) 04 :( 
1 – 1,80  1,80 – 2,59 2,60 – 3,39 3,40 – 4,19  4,20 - 5  

        

                                         
 3:   

 3:  

" :  
 

) 05 :("  

  

  
      

  

    

  

  

          

% %  %  %  %  

1  2  2  17  16  2  3.36  0.873  6    %5.1  %5.1  %43.6  %41.0  %5.1  

2  3  2  20  13  1  3.18  0.885  8    
%7.7  %5.1  %51.3  %33.3  %2.6  

3  0  7  14  13  5  3.41  0.938  5    0%  %17.9  %35.9  %33.3  %12.8  

4  0  3  6  24  6  3.85  0.779  2    %0  %7.7  %15.4  %61.5  %15.4  

5  0  7  6  24  2  3.54  0.854  3    %0  %17.9  %15.4  %61.5  %5.1  
6 

 
1 7 19 9 3 3.15 0.904 10  %2.6 %17.9 %48.7 %23.1 %7.7 

7 2 5 14 18 0 3.23 0.872 7 
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 %5.1 %12.8 %35.9 %46.2 %0  

8 2 8 11 17 1 3.18 0.970 8  
5.1% 20.5% 28.2% 43.6% 2.6% 

9 
 

2 6 6 23 2 3.44 0.995 4  %5.1 %15.4 %15.4 %59.0 %5.1 

10 1 1 7 20 10 3.95 0.885 1  %0 %5.7 %22.9 %60 %11.4 

    3.42 0.556      

: spss  
 3,42 

0,556. 
)3-4-5-9-10 ( )1-2-6-7-8 (

     
3,15 3,95 0,779 

0,995 
    

 :  
) 06 :("   

    
      

  

    

  

  

          

% %  %  %  %  

11  0  1  4  28  6  4.00  0.607  1    %0  %2.6  %10.3  %71.8  %15.4  

12  2  5 13  16  3  3.33  0.982  9    
%5.1  %12.8 %33.3  %41.0  %7.7  

13  1  6 11  14  7  3.51  1.048  5    %2.6  %15.4 %28.2  %35.9  %17.9  

14  0  5  16  14  4  3.44  0.852  6    %0  %12.8  %41.0  %35.9  %10.3  

15  0  6  17  11  5  3.38  0.907  8    %0  %15.4  %43.6  %28.2  %12.8  

16  0  8  15  12  4  3.31  0.922  10    %0  %20.5  %38.5  %30.8  %10.3  

17  1  1  15  19  3  3.56  0.788  4    
%2.6  %2.6  %38.5  %48.7  %7.7  

18 1  2  9  21  6  3.74  0.880  2    %2.6  %5.1  %23.1  %53.8  %15.4  

19  1  1  10  23  4  3.72  0.793  3    
%2.6  %2.6  %25.6  %59.0  %10.3  

20  1  5  13  16  4  3.44  0.940  6    %2.6  %12.8  %33.3  %41.0  %10.3  
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  3.54  0.624      

: spss  
3,54 

 0,624.  
  )12-15-16(   

  
3,31 4,00  0,607 1,048 .
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3.:  

  )39N  39=( 

 
o  :  

   
  

H0:    
=0,05.  

H1:    
=0,05.  

  
Y =  a0 + a1  X1 + µ 

  
Y :.( )   

X1 :) .(  
a0:  
a1 : 
µ:   

) 07 :(  

  2R  
    

    
F  

Sig 
a740,0 0,547    8,104  8,104  1  44,677  b000,0  

      6,712  0,181  37      
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      14,816   34      

: spss  
 

R 74,0% 
2R  7,54% .  

Sigb000,0 05,0 
  
) 08 :(  

    
  

Beta t      
Sig 

  
  0,698   1,618  0,114  

 0,830  0,740  6,684  0,000  

: spss  
 

   0,830 
 0,830 .  

t 6,684 t  1,618 Sig 0,000 
0,05  

    
H0  H1     

   
=0,05.  

      
Y= 0,698+0,830X1 
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